&BLASTRAC

THE IN SURFACE PREPARATION

Assembly Manual BDC-66 Longopac

2x

*See picture on next page

M6 x 25 Hex. socket head cap s. +
Washer + washer +
Hexagon locking nut

10x M10 x 40 Hexagon head +
Spring washer +
Washer

2x M8 x 16 Hex. socket head cap s. +
Washer +
Hexagon locking nut

2x M6 Hexagon locking nut +
Washer

M10 x 20 Hexagon head +
Spring washer +
Washer




M6 x 25 Hex. socket head cap s. +
% Washer + washer
Hexagon locking nut

Hardware list:

10 x
14 x
14 x
2Xx
2Xx
2Xx
4 x
6 X
4 x
2Xx

BEO010_M10x40 hexagon head screw DIN933
BEO0O6_M10 spring lock washer DIN127B
BEO004_M10 plain washer DIN125A
BE0021_M8x16 hex. socket head cap s. DIN912
BEOOO3_M8 plain washer DIN125A

BE0048 M8 hexagon locking nut DIN-985
BE0273_M6 hexagon locking nut DIN-985
BE0016_M6 plain washer DIN125A

BE0038_ M10x20 hexagon head screw DIN933
BE0188 M6x25 hex. socket head cap s. DIN912



